LY zelad] 2850 (1o cilad) 120 Jraxi o

almahah).com/ae

Q2

siiga
L) a0,

unitl Review (Jo¥) sa>gl) izl o Calall

I Jill &5 slal; & plall pie (S Cadll e 1LY zaliall & zeliall g8e

el e pladl ae (il Canall alge Ll

lol &l dall) dy | dall] dro M) dyy il

e Jod Jansd) g borial 18 dale dnxl e 1
1) il )] sl )

Silly Jolait] jglaia (ya Jlgall 3

sarie L) alin) 4

sl el 5



https://almanahj.com/ae/pages/search?teacher_name= بيان عرابلي
https://almanahj.com/ae/12math1
https://almanahj.com/ae/12math
https://almanahj.com/ae/12
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade12uae
https://www.facebook.com/grade12uae
http://bit.ly/3cHhI5R
https://t.me/uae12grade_bot
https://bit.ly/2PxutsU
https://bit.ly/31lsaeS
https://bit.ly/3rqFfOG
https://bit.ly/39dNAz9
https://almanahj.com/ae/id=1759
https://almanahj.com/ae/id=2812
https://almanahj.com/ae/id=5546
https://almanahj.com/ae/id=5718
https://almanahj.com/ae/id=5719
http://www.tcpdf.org

12 General Term1 2021/2022 Teacher: Bayan Arabli
Review Unit 1

Choose the correct answer in the following questions:

1- Which of the following is the set builder notation that describes the set of all
integers multiple of 7?

a. {x|x=>7 ,x¢€Z} b. {x|x>7n,n € Z}

c. {x|x=7n,n e Z/{0}} d. {x|x=7n,x € R}

2- One of the following relations doesn’t represent y as a function of x:

a. b. af’
2 3
5 8 "8 —4|of |4 | 8x
5 | 9 =4
9 22 8
c. 2x+4y=10 d y+ x% =1
3- If f(x)= 2x2 —1 then f(2a)=
a. 4a®> -1 b- 8a? -1
c. -4a®-1 d. 3 a?
4- The domain of the function f(x) = X::X is:
a [ -2, 2] b. (-»,-2) U (2, )
c. R exceptx=-2,x=2,x=0 d. R exceptx=-2,x=2
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5- The domain of the function f(x) = ey is:
a. (—-1,1) b. [-1,1) c. [—1,1] d. (-<1,0) v (0, 1)

6- PUBLIC TRANSPORTATION The nationwide use of public transportation can
be modeled using the following function. The year 1996 is represented by
t =0, and P(t) represents passenger trips in millions.

Plf) = 035t 4+ 76 if O0=st=<5
1. “.{]nlj_‘ . ”.hf +4 I].h II' ::i < ||f_-‘ “_}

The number of passengers trips in 1999 was:

a. 865 million b. 86.5 million c. 8.65 million d. 10.16 million
7- From the following graphs the number of the graph which is symmetric on x-axis
and y- axis and the origin is:

a. 26 b. 27 * MNHHHH ' "H

c. 28 d 29 == /

LN
/

28. HEREY/R [ 29.
] |
= / |
TN
[ ] [ ] X -8 -4 O 4
| - =4
- - - et e 81— |
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8- From the following functions the function which is not even is:

a. f(x)= [+ b. f(x)=x8-2x*+1
c. flx)= % d f(x)=x-2x3+1

X

9-  From the graph of f (x) the domain and the range of g are respectively:

a- Domain (—8,—4] U (—2,o) , Range (—6,) ]
b. Domain (—8,—4]U]4,[ , Range (—6,») \

¢. Domain (—8,—4]uU]-2,4], Range(—6,x)

d. Domain (-2,4]U (4,), Range (—6, )

10- The zero of the function f(x)= 3Vx+ 12 —9 is:

a. 3 b. -3 c. 4

11- Which of the following functions is not continuous at x =2 :

a. f(x)=x3-2x+3 b. f(x)=+vx-2.
x—2 x—2
C. f(x) - ZZ_Zx d’ f(x) - x+—2
: 0507740983: Jwal sill
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12-Which of the following functions is not continuous at x = -1 :

a. ¢ and d b. f(x)=+vx%+1.
e f=14 a. fw={ *3? ¥:7]

13- Which of the following are the consecutive integers contains the real zeroes of the
function f(x) =x3-2x*+x—-1 on[-2,2]

a. —2and -1 b. 1 and 2

c. 0and 1 d. —1 and 0

14- From the graph of function f below, which of the following choices describe its

behavior: . T
32

a. lim f(X) = —00, l]mf(x) = 0, lim f(x) =00 , Iim f(x) = —00 |y Xt2+1 "=
X——00 X—00 x—-37t x-3~ _ [16

X=3

\“ 16x

b. lim f(x) = —oo, lim f(x) = o0, lim f(x) = ,lim f(x) = o
X——00 X—00 x—-3% x—-3~
c.lim f(x) = —oo, lim f(x) = o0, lim f(x) = —0 , lim f(x) = o
X——00 X—00 x—37% x—3~
d. lim f(x) = —o0, lim f(x) = —c0, lim f(x) =00 , lim f(x) = o
x——00 xX—00 x—-37% x—-3~
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15-Which of the following has infinite discontinuity in its domain?

a-

4

J(a)

16-If lim f(x) =
X—00

o Jim f0) = -

c¢. lim f(x)=0

X——00

and f is an even function find lim f(x)
X——00

oo b. lim f(x) = o
X——00

d. lim f(x)=-1

xX—>—00

17-If lim f(x) = o
xX—00

a. lim f(x) =00
X——00

c. lim f(x)=— d.

X——00

b. lim f(x) =0
X——00

lim f(x) = -1

X——00

and f is an odd function, find lim f(x) :
X——00
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18- From the graph f below, the intervals where f is increasing, decreasing or

constant are:
a. incresing (054] decresing (—oo,—2],[4,)

b. incresing (—o,—2],[4,0) decresing (0,4]

c. incresing (0,4], [4,) decresing (—o,—2]

d. incresing (—o,—2] decresing (0,4],[4,x)

19- From the graph f below, the relative and absolute maximum and minimum are:

a. Relative maximum is0 atx=0 ] y L
Relative minimum is — 1000 at x = 3.75 ‘ 1600 -
Relative and absolute minimum is — 1300 at x =3.75 |

b. Relative maximum is0 atx=0 8()” ‘

Relative minimum is — 1000 at x = 3.75

Relative minimum is — 1300 at x = 3.75

c. Relative maximum is0 atx=0

Relative minimum is — 1000 at x = 3.75

‘rm § '

d L Ay
Relative and absolute minimum is — 1300 at x = —3.75 ?0! } 3\
——1
d. Relative maximum is 0 atx= 3.75
Relative minimum is — 1000 at x= 0
Relative and absolute minimum is — 1300 at x = 3.75
- 0507740983: Jwal sill
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20-The average rate of change of the function f(x)=x++vVx—2 on [2,6] =

a. -1 b. 1.5 c. 2 d. 0

21- The average rate of change of the function f(x) in the graph below on [10,20] =
a. 4.5

Speed of Object
b. 3 90
80 + t
70 [ =1
C. 4 = 60 7
E 50 + 4
40 4 i
d 6 X S -
20 1 1
10 + <
o
5 10 15 20 25 30 35 40 as
Time (s)

22- PHYSICS The height of an object that is thrown straight up from a height of 4 feet above
ground is given by k(t) = —16t2 4 30t + 4, where  is the time in seconds after the object is
thrown. Find and interpret the average speed of the object from 1.25 to 1.75 seconds,

a. -18
b. 18
__Mait)
24 .
C 6 WO = =16t% + 30t + 4
18
dc -6
12
I
3% 05 1 15 20
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23- Explain how to transform the graph of f(x) = |x| into the graph of the function
g(x) which graphed below:

a. The graph of f Shifted 8 units up and 4 units left.

b. The graph of f Shifted 4 units down and 4 units left.

¢. The graph of f Shifted 8 units down and 4 units left.

d. The graph of f Shifted 8 units down and 4 units right.

24- Explain how to transform the graph of f(x) = [x] into the graph of the function
g(x) which graphed below:

y

a- The graph of f Shifted 2 units down, and reflected on y-axis.
b. The graph of f Shifted 2 units up, and reflected on y-axis. O=t—

=TT
c. The graph of f Shifted 1 unit down, and reflected on y-axis. O—e { g(x) |
d. The graph of f Shifted 1 unit up, and reflected on y-axis. 1 m

e
O—e
- 0507740983: Jw= sill
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25-Using the graph of f(x) = v/x ,which of the following is the graph of
gx)=vx—1 -1 :
fx)= VX

T
P
/ 1 /
T
1 2 3 4 5 &

26- Which of the following functions is the parent function of the
function 4vx + 2 +7:

a.vx+2 b. +/x.
c. Vx+7 d 4V/x
- 0507740983: Jw= sill
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27- Using the graph of f(x) = — »which of the following is the graph of

g0 = —|f(0)]: //

= = ~a o

1

=

; ﬁ”
2

| = |
]
3
;!
1 F-]
= ) 1 o 1 2 3
-1

28-The equation of the function g(x) in the below graph is:

a. gx)=—(x—2)2+3
b. g(x) = —(x — 3)2 +2 L g(x)
c. gx)=(x—2)%>+3 e
d gx)=—(x—2)%*+5 /
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29-The equation of the function g which is drew below (the point (-2, -5)
lies on it) is?

a. g(x)=—%(x+4)2+3
b. g(x)z—%(x—4)2—3
C. glx) = —%(x+4)2 -3

d gx)=—-(x+4)?*-3

30-1f f(x)= 5x2 —3x+4, g(x)= —2x%—3x+2 ,then (f+g)(x)=
a.(f+g)x)=3x*—- 6x+6

b- (f+g)(x)=-3x*—5x+3
c- (f+g)x)=-x*—x+3

d- (f+g)(x)=—-x*—-5x+1

31-If f(x)= —x*+5x+5, g(x)= —2x*—-3x+2 ,then (f-g)x)=

a. (f-g)x)=—-x*+x+3 c. (f—-g)x)=3x2-—x-1

b. (f—-g)x)=—-x*+x-1 d (f-g)x)= x> +8x+3

R-If fx)= Vx+1, glx) = (x*—-3x)2—1 ,then (fog)x)=

a. (fog)(x) = |x? —3x] b. (fog)(x) = x* —3x

c. (fog)(x)=x+1-3Vx+1?*-1 d. (fog)(x)=(Wx+1)?-3Vx+1-1

- 0507740983: Jw= sill
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33 -From the choices below, which of them are the two functions f, g such that

h(x)=(fog )(x) = Vv4x+2—-5:
a. fx)=vVx—-5 , gx)=V4x+2

b. fx)=Vx—-5 , gx)=4x+2

c. f{(x)=4x+2 , gx)=+Vx—5

d. fx)=Vx—-5, gx)=4x+2

34-1f f(x)=2x -3 , (f/g)(3)=% then g(x) =

a. gx)=x2—-x+3

b. gx)=x*—x—3

c. g(x)=x2+x—3

d. gx)=x3—5x—7

35- Which of the following functions has inverse:

a. x* —2x6-3 b.  x®
C. 5x° d. |x+3]
e 0507740983: Jw= sill
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a. -3
b. 4
c. 0
d 2

36- Use the graph of f,gtofind (f-g)(-4)

!

a. 0
b. -4
c. 3
e. 2

37- Use the graph of f,gto find (fog)(0)

38-Which of the following pairs of functions are inverses:
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39-If fx)=v-3x3 +x-1 then f~1(1) =
a. —1 b. -2
C. 4 d. —4

40-The inverse of the function f(x) = V1—=x is:

a. f71(x)=1+2a3 b. fl(x)= xé +3
c. fl(x)=1-x3 d. flx)=Y1—x

41- The domain that making the function f (which graphed below) is one to one is

a. (=o0,0] :
b. (—o0,1] :
c. [—-1,10] S EEEETREEE. {/1 T
d. [-3 ,) =

45-The formula we used to convert x degrees Celsius to Fahrenheit is f(x) = g x+ 32
Which of the following formulas convert x Fahrenheit to Celsius?
a.  h(x)=2(x-32) b. h(x)= 2 (x+32)

. h@)=3(x-32) d.  h(x)=2(x+32)
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46- Determine which of the following has inverse?

1 ‘y
a. b

8
R 8| o 1 2 3 ’ |
4 ~ : : : o

=8 4.0} 1.4/] 8x] =8, J 0] | 4e 8x

+ ©
% 11 -8
47 - The domain, range, intercepts and continuity respectively for y = f(x) = —8x° is:
a. Domain:R, Range: R\{0}, Intercepts x =0, y =0, ]
continuous on R.
b. Domain: R\{0},Range: R, Interceptsx=10, y=0, ]
continuous on R. 2
c¢. Domain: R ,Range: R, Interceptsx =0, y=0, 1
continuous on R\{0}. 3

d- Domain: R, Range: (—x,0], Interceptsx =0, y=0, continuousonR.
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_7-.

47 -The domain, range, intercepts and continuity respectively for y = f(x) = —4x™7 is:

a. Domain:R,Range: R\{0},Intercepts x=0, y =0,

continuous on R\{0}.

b. Domain: R\{0}, Range: R\{0} , Intercepts @ ,
continuous on R\{0}.
¢. Domain: R,Range: R, Intercepts 0,

continuous on R\{0}.

d- Domain:R, Range: R, Interceptsx =0, y=0,

continuous on R.

-1
48 - Describe the end behavior of y = f(x) = —4x¢ is:

a. limf(x)=0, lim f(x) =— o
X—00 x-07t

fim f)=0  limfG)= oo

b. imf(x)=0 , lim f(x)= 0
X—00 x—>—07F

lim f@)=0  limf(x)= o
c. limfx) =0, lim f(x) = o

lim fG)=0  limf(0) = —o
d limf(x)=co ,  lim f(x)= —o

-10

xl_i)r_noo fx)=0 ;Lrgl_ f(x) = o
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